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" Directions (1 - 8) : In each of the

Frilewing queations, select the related
sertersfwordfnumber from the: given
alternattiss,
L. Tadpole : Frog: : Cub: ¢
(1) Hedgehog
3 Lion
3 Cat 18 bog

2 CHAIR * RIRHC ; : TABLE : %
(1) BATLE (3 EBATL
(3) ELBAP ~ 4|4 EPAB

3 LKS:MNO::DEB: 7
(W FBG  (2HBBF
{3 FGH - HErG

4. ABCD : WHYZ 1 : EFGH: 7
(I sTUV - |2)sTou

[ STUE @) TSUV
B.7:48::12:7

1143 - @ss

3 121 (g112
8 72:18::56:7

(1) 24 322

(3 20 16
T.6:21::3% ¥4

(1) 28 tms

i 61 [-i]fH

8. Brick : Masdn : +Colour : ?
(1 Chid {2 Teacher
(3 Painter  14) Potter

B. Slecp : Reat:: Play : 7
(1) Exjoyment
(2) Learning
[3) Injury
{4 Champion,
Directions (10 - 18) :in each of

the following questions, find the odd

wordletters,/ number from the given
alternatives,
10. (1) D64 {2208
(3 318 4118
AL (1) Mile {2) Centimistre
@it @Yard
12. (1) 36 {261
4l 108

(3 B4

1% (1) March
(3) Augnest
14. (1) Bus
(3) Cycle
16. {1} Iron
{3 Brass
18. (1} BDH
[ EJU
17. (1) CBCD
(3 ONOP

(2 April

(4) December

[2) Scooter

{4) Boat.

{2) Plastic

(4) Copper

(2 CFL

(4] DHP

(2] IHL

HUTUW

18. (1) ADGPT  (2ACEIK

© (M ABDEI |4 ADIPY
IE.“ﬂlhﬂimutnl'lﬁﬂmwhm
“sequentially placed at the gaps in
thegr.mmemmahaumm
plete 1t 7
bea_b_aabe_a_caa
Mebab @bace
Hacab Wbchb
Directions (20 ~ 34} : A serics s

ghven with dne {or more] term

Choose the corect alternative from the

mﬂﬂnmﬂmmummpkutheu

:q BDF, 2., PRT, WY,
(1) GJK {2) HKL
< () IR (4 WK
21. 14, 21, 30, 41,
(1 &1 273
389+ 70
22.17, 14, 15 12,138 2, 2
(10, 11 (214, 11
(11 13 (412 15
23 2 5 10,7 28
113 221
3 17 425
MACFJO_Z2B
(11 @H
(3 U WD
From among the giv-

4, 2

Dimgetions :
mahmaﬁu,ae]mtﬂwmlnwhmh

the set of numbers is most like the set
of numbers given in the question.
25, Given set : (10, 12, 15)

(1) (21, 23, 27

(2 (30, 32, 36)

(3) (80, 62, 66}

(4 (88, 70, 73)

28. M and F are a married couple. 4
and B are sisters. A 1s the aister
of FWholsBioM?

(1) Sister
[2) Bister-in-law
(3) Miece (4) Daughter

27. In a row of 16 boys, when
Prakash was shifted by two plac-
ea towards the left, he became
7th from the left end. What was
his earller position fram the right
end of the row ?

(1) 7th (2] 8th
(3] Sth (4] 10th

28, If day before yesterday was
:T:?Hia}'. when will Sunday
11} 3 days after today
[2) Tomorrow

- [3) Today
4) Day after tomorrow

29. The sum of the ages of a father
and a son presently ls 70 years.
After 10 years the son's age is
exacthy half that of the father's,
What are thelr ages now ?

(1) 4% years, 25 years
[2) 50 years, 20 years
(3) 47 years, 23 yedjs
{4} 50 years, 25 years

0. If B = 2, MAT = 34, then JO-
GLEX =7
m 7o 71
3 72 W73

31 If HONESTY s written as AB-.
CHZDG. how can TONY be writ-
ten in that code 7
(1) DBCQ  [2QDCX
[HCBXZ  [4CQDC

32. Sanmitra starts from his house
and walks 3 km towards north.
Then he turns right and walks 2
km and then turns right and
walks 5 Jom, then turms right and
walks 2 ko and then again tums
right and walks 2 km. Which di-
rection i he facing now 7
(1} North (2] South
(3] Weat [4) East
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W3 Raosa is standing @t a polal e
ing.-norlh. e salke 10 by
stralght, tuens left and walks
annthes 15 lim sLright apgtiagl-
by-turns Jofl and whdis 90 et
Huw far 18 he froem the stanting
podits nowr 7
(1 10km ~ #5km
% iZkm (4515 fan

A4k In a solid cune made up of 27
amall culbes. bwe opposiie sides
are painied red. wo cpposibe
shiics yellow and twe other aides
vhalte. Mow many aoxall cubes
Tenve the cokous yieliow sod while
alone in thes 2
4 58

(3 12 @16

Five binds are silllng go.a inee.

The Figeon is io the right of the

Parrol The Spanoe s alowe The

Parrot, The Crow s mext Lo the

Pigeor. The Crane s below the

O, Whibcl bird s ol Hhe con

e &

{1} Crow (2] Pigenus

(R Parrot [ Speunmoss

. Two yeara ago a mother was 4

times as old as her aon. Six yéars
from oow - Teer agie will beevane
more than Gowbl: ey sos's age
iy 10 years. What bs (e ppesesl
ﬂmﬁiu}ﬂ?w.? :

[Ap2:1 (238 11

-1 B2 (e I |

aot be formed using ihe lettens of the

B ADNENISTRATOR
AE) ADMTT - (2] NEST
(3 M (H)ROAD
- Directions : in the following
froan the given altermates
seleet the ward which can be formed
weming the betters piven in the wond.
(1) FARMER
2 MOTION
(3 FIREMAN
14 NAME:

Direstions (40 - 41) ¢ In cach of

mﬂ_m&:nmmm
monly finown facts. You have ko de-
i whidi of the given concliosions, if
upy, Filow from the gven stslements,
A0, Staiemmant | The best evidence
of India's ghorious past is the
growing popuilarity of Ayurvedic
mecichass v the wesd.
i~ )
1. Agnmwoiiic medicinres are mou
popular in Indis.
Il. Alppethic medicies ane mot
popular in India.
1) Omiby 1 fsllcows
2 Omly Il llows
(3 Bl [ wwd 0 follew
) Matther | mon- 1 fnllewrs.
1. Beimbemsat * Soene doges bark.
Al duge bite.
Comenlesilonsis: :
1. Thonse dogs wio de nol bark,
 almolbite, :
1. Tisoee dogs wive do-not hark,
nol. neccsnmcily biie.
(1) Only [ oliows -
T Ouily T foliews -
" BN Either § or 11 follows
() Pty | rar T ndiowrs

B*B8*1*11* 1k}
0 +=+-
R xs=%
Brxes
= =4
43 Hix10=9 2x10=16 3x 10
=37, thenwhat BB x 10=7

in s , T2
o s
i s siavice for division, “x’ stands
o kit " stards fior -
¢ shands or mibme-
i, e which of the Thillowing
etpiiitin e tierect T

MM -8+3x043=T4
3 x6's T¥d-6=20
MME+B-3x5+3=34
M s+8+IuE-3=45
Divsotions : Sclecl the minsing

£ Josh
a8 5 -] T

2 -4 3

L] F 3

a0 B4 i

(1) G tB 40

& 30 ML

Birectisns 1 In Lhe following
guestion, & word s repressniesd by onky

e et of rrorlvers s pfives iy sy one
of the allematives. The sots.of pum-
I givess in the aermnaties are rep-
resersted by two ciasses of alphabets
o [n e 3 matrices ghan helow, The
cciirs s rows o Msbde-] e nass-
e Froas O by 4 s Ut of Madyie-I1
from 5 1o 9. A betber Sooen thess malri-
ocs can b represented frst b Bn now
and mext by eolumn mmber. For ex-
amnple, “W* can be representrd by 13,
80 sle. “H can be repregented by 66,
7B elc. Idemiify the set for the word
PENS.
.

0l ]=S

SR
| H )=z
Bl=|w{=|n =

Bw|x| 0|8 =@

EGIECE
Ql|miz|m @

e
CHEREED

mim]-|®|a
FAE L

= oW -

BEHY

B7.
5,
e,
ETF

B W
=rF
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48. Which oné of the followlsg i
ures represenits the relationshi

among Dog, Animal; Pels 7

m-ﬂlﬂﬂﬂﬂ Which -answer
'-‘“'-’“’mmphlﬂ the question Eﬁ;:c'%i

43, Guestion Figwn

e,

o]

TR = R
Eﬂ-ﬁmﬂﬁbﬂhﬂnurwmngum
which flgure can be formed from
m““ﬂﬂ*ﬂ‘ﬂﬁiﬂlhﬂmmmg
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Answer: General

Intelligence
1 2 26 2
2 3 27 2
3 4 28 4
4 1 29 2
5 1 30 4
6 2 31 1
7 3 32 1
8 3 33 4
9 1 34 1
10 1 35 2
1 3 36 2
12 1 37 1
13 2 38 2
14 4 39 2
15 2 40 4
16 3 41 1
17 4 42 4
18 4 43 2
19 3 a4 4
20 3 45 4
21 3 46 3
22 1 47 2
23 3 48 3
24 3 49 1
25 4 50 2




